PR Received dated 2 Nov 2015 - 8 Nov 2015

Offices Supplies & Consumble Parts

Post Dated 9 Nov 2015

Serial | PR No. Pocument Item Code PR Line Description PRQty | Unit Buyer B:i‘;eer EMAIL ADDRESS PR Status RFQDg't:Zi"Q
1 11508968 2-Nov-2015 CONZZ30139 ROOFING "SSV.TYPE 600" SIZE 600x14000x0.5 mm. (COLOUR : BLUE) 35.00( PIECES PIKKANESUAN, MRS. ANCHALEE BSP Anchalee) @ssi-steel.com INCOMPLETE 16-Nov-2015
2 11508969 | 2-Nov-2015 STA3000391  |uuTusousto(SKYLIGHT) 2wnm 600 x 12000 x 1 MM. 35.00| Each PIKKANESUAN, MRS. ANCHALEE BSP Anchalee) @ssi-steel.com INCOMPLETE 16-Nov-2015
3 11508988 7-Nov-2015 CONAZ22473 ??;:};EMT HEAD CAP SCREW M48-3x180MM CLASS 12.9 END THREAD = 4.00 Each TEANGTUNG, MRS. CHUTIPA BSP ChutipaT@ssi-steel.com INCOMPLETE 16-Nov-2015
4 11508915 | 7-Nov-2015 | CONAZ28188 |NORD-LOCK NL30 FOR BOLT M30 50.00]  Set TEANGTUNG, MRS. CHUTIPA BSP ChutipaT@ssi-steel.com INCOMPLETE 16-Nov-2015
5 11508578 7-Nov-2015 CONZZ05811 NUT HEX.HEAD (CLASS 8.8) M16-2 370.00 Each TEANGTUNG, MRS. CHUTIPA BSP ChutipaT@ssi-steel.com INCOMPLETE 16-Nov-2015
6 11508920 | 2-Nov-2015 | CONZZO06764 |BOLT&NUT HEX.HEAD  M6-1x40 mm.(CLASS 8.8) FOR VEHICLE 5.00  Set TEANGTUNG, MRS. CHUTIPA BSP ChutipaT@ssi-steel.com INCOMPLETE 16-Nov-2015
7 11508928 2-Nov-2015 CONZZ07259 U-BOLT WITH NUT DIA1" (GALV.) 50.00 Each TEANGTUNG, MRS. CHUTIPA BSP ChutipaT@ssi-steel.com INCOMPLETE 16-Nov-2015
8 11508429 | 7-Nov-2015 | CONZZ08038 |BOLT HEX.HEAD(CLASS 8.8) M30-3.5x90 mm. 50.00| Each TEANGTUNG, MRS. CHUTIPA BSP ChutipaT@ssi-steel.com INCOMPLETE 16-Nov-2015
9 11508430 7-Nov-2015 CONZZ08052 BOLT HEX.HEAD(CLASS 8.8) M36-4x90 mm.P.4 50.00 Each TEANGTUNG, MRS. CHUTIPA BSP ChutipaT@ssi-steel.com INCOMPLETE 16-Nov-2015
10 | 11509004 | 7-Nov-2015 | CONZZ08101 |SOCKET HEAD CAP SCREW M12-1.75x40 mm#CLASS 12.9 100.00|  Each TEANGTUNG, MRS. CHUTIPA BSP ChutipaT@ssi-steel.com INCOMPLETE 16-Nov-2015
11 11508427 7-Nov-2015 CONZZ08105 SOCKET HEAD CAP SCREW  M12-1.75x80 mm. 20.00 Each TEANGTUNG, MRS. CHUTIPA BSP ChutipaT@ssi-steel.com INCOMPLETE 16-Nov-2015
12 | 11508419 | 7-Nov-2015 | CONZZ08118 |SOCKET HEAD CAP SCREW M16-2.0x60 mm.#CLASS 12.9 60.00| Each TEANGTUNG, MRS. CHUTIPA BSP ChutipaT@ssi-steel.com INCOMPLETE 16-Nov-2015
13 11508931 7-Nov-2015 CONZZz08142 SPRING WASHER M10 (MAT.STEEL BLACK) FOR VEHICLE 100.00 Each TEANGTUNG, MRS. CHUTIPA BSP ChutipaT@ssi-steel.com INCOMPLETE 16-Nov-2015
14 | 11508926 | 7-Nov-2015 | CONZZ08145 |SPRING WASHER M14 (MAT.STEEL BLACK) 50.00| Each TEANGTUNG, MRS. CHUTIPA BSP ChutipaT@ssi-steel.com INCOMPLETE 16-Nov-2015
15 11508426 7-Nov-2015 CONZZ08153 SPRING WASHER M30 200.00 Each TEANGTUNG, MRS. CHUTIPA BSP ChutipaT@ssi-steel.com INCOMPLETE 16-Nov-2015
16 | 11509022 | 5-Nov-2015 | CONZZ09204 |LOCKING WASHERS TYPE MBL 36 4.00| Each TEANGTUNG, MRS. CHUTIPA BSP ChutipaT@ssi-steel.com INCOMPLETE 16-Nov-2015
17 11508924 7-Nov-2015 CONZZ10236 BOLT HEX.HEAD+NUT+SPRING WASHER M27-3x280 mm. (CLASS 8.8) 24.00 Set TEANGTUNG, MRS. CHUTIPA BSP ChutipaT@ssi-steel.com INCOMPLETE 16-Nov-2015
18 | 11508420 | 7-Nov-2015 | CONZZ10327 |BOLT HEX.HEAD M20-2.5x45 mm.(CLASS 8.8) 30.00| Each TEANGTUNG, MRS. CHUTIPA BSP ChutipaT@ssi-steel.com INCOMPLETE 16-Nov-2015
19 11508428 7-Nov-2015 CONZZ12300 NUT HEX.HEAD(CLASS 8.8) M12-P.=1.75 360.00 Each TEANGTUNG, MRS. CHUTIPA BSP ChutipaT@ssi-steel.com INCOMPLETE 16-Nov-2015
20 | 11508921 | 7-Nov-2015 | CONZZ14543 |BOLT FLANGE HEAD(HEX.) & NUT NYLON INSERT M12-1.25x40 mm. 230,00  Set TEANGTUNG, MRS. CHUTIPA BSP ChutipaT@ssi-steel.com INCOMPLETE 16-Nov-2015
21 11508916 7-Nov-2015 CONZZ16878 FLAT WASHER M10 (STAINLESS) 50.00 Each TEANGTUNG, MRS. CHUTIPA BSP ChutipaT@ssi-steel.com INCOMPLETE 16-Nov-2015
22 | 11508575 | 7-Nov-2015 | CONZZz18011 |SOCKET SETSCREW  M6-1x10 (STAINLESS 304) 15.00| Each TEANGTUNG, MRS. CHUTIPA BSP ChutipaT@ssi-steel.com INCOMPLETE 16-Nov-2015
23 11508925 2-Nov-2015 CONZZ20530 5sozt:Lu|;(;W30HEAD (CLASS10.9) M20-2.5x50MM. (FULL THREAD) 41.00 Each TEANGTUNG, MRS. CHUTIPA BSP ChutipaT@ssi-steel.com INCOMPLETE 16-Nov-2015
24 | 11508989 | 7-Nov-2015 | CONZZz20721 |SPRING WASHER DIA48 mm. 25.00| Each TEANGTUNG, MRS. CHUTIPA BSP ChutipaT@ssi-steel.com INCOMPLETE 16-Nov-2015
25 11508922 7-Nov-2015 CONZZ21000 EI;JES?#?%TgNUT M33-3.5x470MM. THREAD 90MM (BOTH SIDE) 32.00 Set TEANGTUNG, MRS. CHUTIPA BSP ChutipaT@ssi-steel.com INCOMPLETE 16-Nov-2015
26 | 11508930 | 2-Nov-2015 | CONZZ21628 |EXPANSION BOLT M10x70 MM 5.00| Each TEANGTUNG, MRS. CHUTIPA BSP ChutipaT@ssi-steel.com INCOMPLETE 16-Nov-2015
27 11508927 7-Nov-2015 CONZZ21740 EZEISDSi?ngNUT M33-3.5x280MM THREAD=90MM (BOTH SIDE) 20.00 Set TEANGTUNG, MRS. CHUTIPA BSP ChutipaT@ssi-steel.com INCOMPLETE 16-Nov-2015

Page 1 of 3




PR Received dated 2 Nov 2015 - 8 Nov 2015 Offices Supplies & Consumble Parts Post Dated 9 Nov 2015

Serial | PR No. Pocument Item Code PR Line Description PRQty | Unit Buyer B:i‘;eer EMAIL ADDRESS PR Status RFQDg't:Zi"Q
28 11509003 | 7-Nov-2015 CONZZ22054  |BOLT HEX.HEAD M10-1.5x30MM STAINLESS 70.00| Each TEANGTUNG, MRS. CHUTIPA BSP ChutipaT@ssi-steel.com INCOMPLETE 16-Nov-2015
29 11508580 | 7-Nov-2015 CONZZ25454  [SOCKET SET SCREW M4-0.7x12 MM(STAINLESS) 30.00| Each TEANGTUNG, MRS. CHUTIPA BSP ChutipaT@ssi-steel.com INCOMPLETE 16-Nov-2015
30 11508923 | 2-Nov-2015 CONZZ31670 |SOCKET HEAD CAP SCREW M5-0.8x12 MM (STAINLESS) 10.00| Each TEANGTUNG, MRS. CHUTIPA BSP ChutipaT@ssi-steel.com INCOMPLETE 16-Nov-2015
31 11508678 | 7-Nov-2015 CONZZ13578 I;;';{;IOR 220-240V 50/60Hz "PHILIPS" TYPE SN58 FOR METAL HALIDE 5.00| Each THONGDEE, MR. EKKAPONG BSP EkkapongT @ssi-steel.com INCOMPLETE 16-Nov-2015
32 11508547 | 7-Nov-2015 CONZZ31203  [SPORTLIGHT FIXTURE LAMP 500 W.220 VAC. TANGSTAIN "PHILIPS" 10.00| Each THONGDEE, MR. EKKAPONG BSP EkkapongT @ssi-steel.com INCOMPLETE 16-Nov-2015
33 11508960 | 7-Nov-2015 CONZZ30075  |TUBE 10.00-20-7.50 PREMIUM 10.00 R20 tnatu fiia BRIDGESTONE 34.00| Each JANTHAWEE, MISS JARIYAPORN BSP jariyapornja@ssi-steel.com INCOMPLETE 16-Nov-2015
34 11508899 | 7-Nov-2015 CONZZ06499  |WELDING ELECTRODE"GEMINI"AWSE7016 DIA.3.2 MM LD52 50.00| Kilograms CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 16-Nov-2015
35 11508697 | 7-Nov-2015 CONZZ06507  |WIRE BRUSH 5 1/2" BRUSH LENGH WOOD HANDLE 5.00| Each CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 16-Nov-2015
36 11508900 | 7-Nov-2015 CONZZ14460 |aduwas (STANLEY tm 3 M.) 24.00| Each CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 16-Nov-2015
37 11508901 | 7-Nov-2015 CONZZ14695 |GRINDING WHEELS TYPE 27 SPEC A 24 R SIZE 180x6x22 MM "SSM" 300.00| Each CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 16-Nov-2015
38 11508807 | 7-Nov-2015 CONZZ18363  |AIR HOSE ID.3/8" 400 PSI 100.00| Metres CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 16-Nov-2015
39 11508537 | 4-Nov-2015 CONZZ18507 |BRONZE PAINT No.222  &usaufiia BEN-TONE (5anes 3.5 &) 32.00 GALLON CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 16-Nov-2015
40 11508632 | 4-Nov-2015 CONZZ18507 |BRONZE PAINT No.222  &usaufiia BEN-TONE (fanes 3.5 &as) 24.00| GALLON CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 16-Nov-2015
41 11508536 | 4-Nov-2015 CONZZ18566  |QUICK COUPLING MOD.20-SH,DIA. 1/4" 10.00| Each CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 16-Nov-2015
42 11508364 | 4-Nov-2015 STA9999999  |mialaunsa 1.00| Each SEEBAMRUNGSAS, MISS PAON BKK PaonS@ssi-steel.com INCOMPLETE 16-Nov-2015
43 11508364 | 4-Nov-2015 STA9999999  [rulawnda 1.00| Each SEEBAMRUNGSAS, MISS PAON BKK PaonS@ssi-steel.com INCOMPLETE 16-Nov-2015
44 11508941 | 7-Nov-2015 CONZZ20005  |PIPE CLAMP ALUMINIUM (HEAVY SERIES)FOR PIPE OD.76.1 mm. 8.00| Each ONCHAWIANG, MR. PHAIBOON BSP PhaiboonO@ssi-steel.com INCOMPLETE 16-Nov-2015
45 11508939 | 2-Nov-2015 CONZZ20006  |PIPE CLAMP ALUMINIUM (HEAVY SERIES)FOR PIPE OD.60.3 mm. 5.00| Each ONCHAWIANG, MR. PHAIBOON BSP PhaiboonO@ssi-steel.com INCOMPLETE 16-Nov-2015
46 11508943 | 2-Nov-2015 CONZZ22026  |TUBE CLAMP CARBON STEEL FOR PIPE OD.60.3MM(2") 10.00|  Set ONCHAWIANG, MR. PHAIBOON BSP PhaiboonO@ssi-steel.com INCOMPLETE 16-Nov-2015
47 11508945 | 2-Nov-2015 CONZZ24025  [PIPE CLAMPS ALUMINIUM (HEVY SERIES) FOR PIPE OD.168 MM. (6") 2.00| Each ONCHAWIANG, MR. PHAIBOON BSP PhaiboonO@ssi-steel.com INCOMPLETE 16-Nov-2015
48 11508994 | 7-Nov-2015 CONZZ31412 EWSQDM‘SSESS;’;ZE ﬁgi%ASME B1.20.1 MAT:SUS304 SCH.40#SEAM 8.00| Each ONCHAWIANG, MR. PHAIBOON BSP PhaiboonO@ssi-steel.com INCOMPLETE 16-Nov-2015
49 11508864 | 2-Nov-2015 CONZZ31799  [PL-HP 220817 SHIELD CUP MACHINE PMX68-85/105 2.00| Each ONCHAWIANG, MR. PHAIBOON BSP PhaiboonO@ssi-steel.com INCOMPLETE 16-Nov-2015
50 11508864 | 2-Nov-2015 CONZZ31800 |PL-HP 220819 NOZZLE 65A PMX65-105 2.00| Each ONCHAWIANG, MR. PHAIBOON BSP PhaiboonO@ssi-steel.com INCOMPLETE 16-Nov-2015
51 11508864 | 2-Nov-2015 CONZZ31801  |PL-HP 220842 ELECTRODE PMX65-105 2.00| Each ONCHAWIANG, MR. PHAIBOON BSP PhaiboonO@ssi-steel.com INCOMPLETE 16-Nov-2015
52 11508863 | 5-Nov-2015 STA4000141  |COLD CHISELS 8" (sfmuhnuuu) 4.00| Each ONCHAWIANG, MR. PHAIBOON BSP PhaiboonO@ssi-steel.com INCOMPLETE 16-Nov-2015
53 11508972 4-Nov-2015 STA4006393 gg’,‘sDri'::"\‘G IRON GUN 220V 20W/130W mnalanafhufoiduriigudnan 2.00| Each ONCHAWIANG, MR. PHAIBOON BSP PhaiboonO@ssi-steel.com INCOMPLETE 16-Nov-2015
54 11508905 | 7-Nov-2015 CONAZ13505 iégéASTOR COOLANTSANTIRUSTDE-CONE(1 PAIL/20 LT.) FOR FAN & 1.00| Pail SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 16-Nov-2015

Page 2 of 3




PR Received dated 2 Nov 2015 - 8 Nov 2015 Offices Supplies & Consumble Parts Post Dated 9 Nov 2015

" Document . s . Buyer RFQ Closing
Serial PR No. Date Item Code PR Line Description PR Qty Unit Buyer site EMAIL ADDRESS PR Status Dated
55 11508908 7-Nov-2015 CONZZ01624 FAN MOTOR 24 VDC. DIA.12"" ( OLD TYP TD2738 ) FOR FANTUZZI 2.00 Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 16-Nov-2015
56 11508906 7-Nov-2015 CONZZ09569 LAMP HALOGEN 24V 70W H3 FOR SPOTLIGHT FOR VEHICLE 10.00 Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 16-Nov-2015
57 11508910 7-Nov-2015 CONZZ11335 ENGINE OIL FILTER BY PASS P/N 477556 (VOLVO) DONALDSON 10.00 Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 16-Nov-2015

P550425 FOR FANTUZZI

MOTOR FAN 24 VDC. 4000 RPM DIA.85x85 mm. FOR BOX AIR .
58 11508908 7-Nov-2015 CONZZ21671 CONDITION SYSTEM OF FANNTUZZI 2.00 Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 16-Nov-2015

59 11508909 | 7-Nov-2015 CONZZ30105 |PIN POS.13 P/N PC1002 FOR TRAILER 12.00| Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 16-Nov-2015

60 11509083 7-Nov-2015 CONZZ31882 nmfaaawiu ju SC 4000 1.00 Can SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 16-Nov-2015

61 11509083 7-Nov-2015 CONZZ31883 |METAL PRIMER fu PR 200 1.00| can SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 16-Nov-2015

62 11508946 7-Nov-2015 CONzzogag4 |PROPANE GAS (LPG)=15KGS (WORLD GAS) (dusiaufl Ju,ifiau,1 6.00| Bottle PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 16-Nov-2015
nasay asvgavine laiAu 5 1)

63 11509028 | 7-Nov-2015 STA4006637  |asvenmvianmn mune 12'x12" 300.00| Kilograms | PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 16-Nov-2015

Page 3 of 3




